
 
1. What is the units’ place of “6” in 625  
 
                                 
(a) Ones        (c) Hundreds   
 
(b) Thousands                              (d) Ten thousands   
 
 
 
2. 150 - 27 = ___________                
 
 
(a) 128        (c) 113     
 
(b) 123             (d) 120 
 
 
3. Which of the following number is even?                       
 
 
(a)  6                                           (c) 3 
 
(b) 5                                    (d) 7       
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4. Square have ____________ equal side  
 
                                             
(a) 2                                            (c) 4 
 
(b) 3                       (d) 1 
 
 
 
 
5. What time does the clock show? 
 

                                   
 
 
                              
(a) 5’o clock     (c) 6’o clock    
 
(b) 2’clock          (d) 3’o clock  
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6. What is the value of 5 times 4 
 
 
(a) 10                                           (c) 20   
  
(b) 30       (d) None  
 
 
 
7.  Three times 4 can be calculated as ____ + 4 + 4  
 
 
(a) 3                                          (c) 5  
 
(b) 4                     (d) 1 
 
 
 
8. In 59 what is the units’ place of 9 
 
 
(a) Ones                                    (c) zeros    
 
(b) Tens             (d) Hundreds     
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9. There are 12 desks in a classroom. Each desk has 4 legs. What 
is the total number of legs of the desks? 
 
 
(a) 36                                          (c) 48  
 
(b) 16                                          (d) 50 
 
 
 
10. Jack bought 4 packets of biscuits. Each packet has 4 biscuits. 
How many biscuits did Jack buy? 

 

(a) 10                 (c) 9 

(b) 8                       (d) 16  

  

11. 6 more than 14 is  

 

(a) 18                 (c) 16  

(b) 17                              (d) 20 
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12. Complete the pattern 3,6,9, ___ 
 
 
(a) 15                                           (c) 16 
 
(b) 12                     (d) 13 
 
 
 
13. A shirt has 5 buttons. How many buttons would 3 shirts have? 
 
 
(a) 3                       (c) 12 
 
(b) 14               (d) 15   
 
 
 
14.  What is the number 10 more than 2? 
 
 
 (a) 18                                         (c) 12 
 
 
(b) 13             (d) 15  
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15. How many books are here? 

                       
 
 
 (a)  8     (c) 5  
 
 (b) 9       (d) 6 
 
 
16 . Find the missing term in the below picture? 
 

 
 
 
(a) 2                                           (c) 4 
 
(b) 3                     (d) 5  
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17. Which of the following number comes just before 9? 
 
 
(a) 3                          (c) 8  
 
(b) 9              (d) 10  
 
 
18. Complete the pattern 51,56,61,66, ___? 
 
 
(a) 57     (c) 67 
 
(b) 71              (d) 66 
 
 
 
19. How many pots are here? 
 

 
 

 
(a) 2                                   (c) 3 
 
(b) 4                (d) 5 
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20. How many girls are in the below Picture?  
 
                   

 
 
 
(a) 3      (c) 4 
 
(b) 5       (d) 6  
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21. Jill needs to earn enough money to buy skate board that costs 
$48.50.She has $12.54.How much money does she need to buy 
skate board? 
      
   
(a) $ 36.50                       (c) $ 35.56 
 
(b) $ 35.96               (d) $ 38.56       
 
 
22. Which is the most nearest number to 1000? 
 
 
(a)  967     (c) 697 
 
(b) 988       (d) 999 
 
 
23. How many days does one week contain? 
 
 
(a) 2                (c) 7 
 
(b) 4              (d) 5 
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 24. How many 2’s are in 18?     
 
 
(a) Eight               (c) Nine   
 
(b) Seven     (d) two 
 
 
 
25. What I the value of 33 
 
 
(a) 9       (c) 3 

 
(b) 27      (d) None   
 
 
 
26. Fill in the blanks. 
 5 + 4 + 6 =_________ 
 
 
(a)  15                    (c) 14  
 
(b) 12      (d) 6  
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27. Find the missing term 7, _____ , 21, 28, 35, 
 

 
(a) 15           (c) 16 
 
(b) 25                                         (d) 14   
 
 
 
28. Debbie had $45, and she spent $10. How much does she have 
left? 
 
 
(a) 15      (c) 25 
 
(b) 45       (d) 35  
 
 
29. The Jones family ordered four pizzas. Each pizza was sliced 
into four pieces. How many slices of pizza were there? 
 
 
(a)  15             (c) 16 
 
(b)  17     (d) 8 
 
 
 
 
 
 
 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
30. What is the value of   0 x 4 
 
 
(a) 0                                  (c) 4 
 
(b) 3                              (d) 2 
 
 
31. There were seven birds in each of the two trees. Then three 
of them flew away. How many birds stayed in the trees? 
 
 
(a) 5      (c) 4 
 
(b) 3               (d) 7 
 
 
 
32. The sun rises at 5:49 AM. Marge wants to wake up 15 minutes 
before that. When should she wake up? 
 
 
(a) 6.34                             (c) 5.34  
 
 
(b) 5.28           (d) 5.36 
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33.  How many Rectangles are in the below picture  
 
 

    
 
 
(a)  6             (c) 5    
 
 
(b) 10                    (d) 7     
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34. If Rita buys a book for $4.20 and a magazine for $1.50 .What 
is the total amount that I have spent? 
 
 
(a) $5.70            (c) $3.20  
 
(b) $11.50                            (d) $7.30 
 
 
35. What is the value of “x”  
           4 + X + 2 = 10 
 
 
(a) 8                       (c) 4 
 
(b) 20        (d) 12  
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36. The picture graph shows the number of dolls these 5 girls 
have. Who has more dolls?  

 
 
 
(a) Sue                   (c) Devi 
 
(b) Siti       (d) Lili 
 
 
37. Which pair of numbers makes 10? 
 
(a) 1 and 3       (c) 5 and 9 
 
(b) 4 and 9             (d) 2 and 8 
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38. In a class there 15 boys and 25 girls. How many girls are more 
than boys? 
 
 
(a) 6                        (c) 8 
 
(b) 10                (d) 14   
 
 
 
39. A box has 35 thumbtacks, and another has 42. The latter box 
has _______ more. 
 
 
(a) 7               (c) 5 
   
(b) 3                                        (d) 1 
 
 
40. How many rows of carrots are in the below picture? 
  

 
 
 
(a) 7                       (c) 2 
 
(b) 5               (d) 4 
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41. A certain town has three post offices. Each post office has 
five workers. How many postal workers do the post offices have 
all together? 

 

 
(a) 18             (c) 15 
 
(b) 13             (d) 17  
 
 

42. Identify the following shape 

 

 

 
(a) Rectangle     (c) cube  
 
(b) cuboid      (d) Square 
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43. What is the total amount shown below? 

           

                               
(a) 85       (c) 75 
 
(b) 95        (d) 100 
 

44. Which of the following is correct? 

 
 
(a) 52>32                      (c) 52<32 
 
(b) 52=32                    (d) None of these   
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45. How many identical terms in the following sets  A={1,2,3,4,5} , 
B={2,3,6,7}  

 

(a) 2                       (c) 3 
 
(b) 7              (d) 6 
 

46. Find the missing term  15 +  ____  = 31 ? 

 
(a) 35      (c) 16  
 
(b) 30     (d) 28 
 
 

47. Answer the following  

                   

 
 
(a) 15        (c) 14 
 
(b) 13       (d) 12  
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48.  Sam gets 56 marks for a test. Tom gets 19 more than Sam. 

How many marks does Tom get? 

 
 
(a) 57              (c) 77 
 
(b) 75             (d) 87  
 
 
49. How many numbers are between 3 and 8 
 
 
(a) 3         (c) 4  
 
(b) 2                                    (d) 5 
 
 
50. How many pair of mush rooms here? 
 
 

 
   
 
(a) 3       (c) 6  
 
(b) 7             (d) 8  
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Answers  
 
 
1. c  2. b  3. a  4. c  5. d  6. c   
 
 
7. b  8. a     9. c  10. d  11. d  12. b 
 
 
13. d  14. c  15. a   16. c  17. c  18. b 
 
 
19. b   20. a  21. b   22. d  23. c   24. c 
 
 
25. b  26. a  27. d  28. d  29. c  30. a 
 
 
31. c  32. c  33. b  34. a  35. c  36. b 
 
 
37. d  38. b  39. a  40. c  41. c  42. c 
 
 
43. b  44. a  45.  a 46. c  47. c  48. b 
  
 
49. c  50. a    
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